mmmmm

wwwww
HHHHH
mmmmm
=>=> >0

bition s
esign s
tation s

-----

<

interior
prese
cle

PRESENT YOUR COMPANY MESSAGE WITH OCTAPOLE

The variable display system for a successful corporate communication

i ®
E OCTANORMES

SYSTEMS



OCTAPOLE: DESIGNED FOR EASY SET-UP

OCTApole’s clever design enables even an inexperienced person an effortless
set up and achieves a professional presentation in a very short time. You will
be surprised how little effort it takes to achieve a huge effect.



OCTAPOLE

OCTAPOLE

OCTAPOLE

OCTAPOLE

OCTAPOLE

OCTAPOLE

OCTAPOLE

OCTAPOLE

OCTAPOLE

OCTAPOLE




OCTAPOLE-SET
STRAIGHT VERSION

aluminium, matt anodized, silver

set includes:

1 x teleskopic upright OP 150

1 x base plate OP 155

1 x adaptor OP 158

1 x adaptor OP 160

2 X beam extrusion OP 181

4 x end cap M 1365/K

Attention: graphic panel not included
15 kg

4
< 5
ks 1
k5 51
s %
. o
% %
o K 9
(= 5 ]
L K o
¥ E ]
o KX %]
8 K %
© K 3
= E s
= K

\ 2030305530

—

* fabric dimensions

1500-2400*

OCTAPOLE-SET
STRAIGHT VERSION

aluminium, matt anodized, silver
set includes:

2 x teleskopic upright OP 150

2 X base plate OP 155

2 x adaptor OP 158

2 x adaptor OP 160

4 x beam extrusion OP 181

4 x end cap M 1365/K

3 x connector OP 172

Attention: graphic panel not included
29 kg

(1600-2500)

—

* fabric dimensions

1500-2400*

OCTAPOLE-SET
CURVED VERSION (CONCAVE)

aluminium, matt anodized, silver

set includes:

1 x teleskopic upright OP 150

1 x base plate OP 155

1 x adaptor OP 158

1 x adaptor OP 160

2 X beam extrusion OP 183

4 x end cap M 1365/K

Attention: graphic panel not included
15 kg

1240 — 1

2
2
55

b
QR0

35
%
Q2%
S
5

-

s
%3
%3
%%
%
4
o
2353

X
5
55
S5
38
%
o
%
e
e
5
0K
5%

S
ssssss
RIS
s
RIS
Ry

.
oo
S
23
S
X

.
5
2%
K
3
.
X

%3

%
5
5
55
o
"3
=g
o
S
SRS
35
5
55
%

3
5
o203

53
5
s
38
i3
Rz

s
2

e
I
398
2
s

.
g
S

R .:.:l‘
R

o
S8
o
%
%
5%
o
8%
2930393

(1600-2500)

.

o5

e
5

S
vavioits
e
R
55
o
o
<5
20202
s
L

s
%
S
s

=%
S
S
35
5
%
5
%
5
5
29
55
S

5
=

5
5
5

jetetet

X
et
5
5
oo

ZRT

R
%

* fabric dimensions

1500-2400*

OCTAPOLE-SET
CURVED VERSION (CONCAVE)

aluminium, matt anodized, silver
set includes:

2 x teleskopic upright OP 150

2 X base plate OP 155

2 x adaptor OP 158

2 x adaptor OP 160

4 x beam extrusion OP 183

4 x end cap M 1365/K

1 x connector OP 174

2 x connector OP 176

Attention: graphic panel not included
29 kg

-\

(1600-2500)

—

* fabric dimensions

5
3

o
R

%
3%

1500-2400*

0P 10.90

0P 100
0P 100.90

0P 20.90

0P 200
0P 200.90




0P 30
0P 30.90

0P 300

0P 300.90

0P 150.01

OP 155.21

«007¢-005 1
v H

T BSOS
)
IR

s
s e ee e eos
et s ety
S IR
B RN

%
IS
R S
BRI

—  (0052-0091) —

* fabric dimensions

T 2480*

[

«0072-00G |

(0052-0091)

—

imensions

* fabric df

I 0092 - 0091

E—

A

300>

500

luded

ized, silver
| not inc

ic pane

ium, matt anod

Inium

CURVED VERSION (CONVEX)
2 x beam extrusion OP 185
4 x end cap M 1365/K

graph

OCTAPOLE-SET
Attention

set includes
1 x teleskopic upright OP 150

1 x base plate OP 155

1 x adaptor OP 158
1 x adaptor OP 160

alum

29 kg

OCTAPOLE-SET

CURVED VERSION (CONVEX)

d, silver

1z

, matt anod

inium

alum

set includes
2 x teleskopic upright OP 150

2 X base plate OP 155

2 x adaptor OP 158
2 x adaptor OP 160

4 x beam extrusion OP 185
4 x end cap M 1365/K
1 x connector OP 174
2 x connector OP 178

graphic panel not included

Attention
15 kg

TELESCOPIC UPRIGHT

inium

alum
two

-pieces
made of M 1204 und M 1210

height adjustable from 1600
with fixing screw

4111 kg

2500 mm

BASE PLATE

steel

ight

with adaptor for upr
extrusion OP 150

5.925 kg




ADAPTOR ,, TOP“ OP 158

aluminium / steel 0P 158.01
incl. 2 x fixing screw M 1343/3

and 2 x hammerhead bolt M 1147 e \ -
70 mm long = @
0.159 kg K 5

ADAPTOR ,BOTTOM® 0P 160

aluminium / steel OP 160.01
incl. 2 x fixing screw M 1343/3
and 2 x hammerhead bolt M 1145
60 mm long

0.142 kg

ANGLE-CONNECTOR 90°

steel, galvanized OP 165.37
incl. 2 x knurled head screw OP 172/1
0.026 kg

CLAMP SET 0P 170

steel / plastic 0P 170.33
thread M8

for upright extrusion OP 150
0,029 kg




HALOGEN SPOTLIGHT

plastic, silver-grey

incl. halogen light 150 W/ 230V,
connection cable 3000 mm
and clamp M 1481

0.864 kg

/'25

VA 5020

VA 5020.90

TRANSPORT BOX

plastic / aluminium

with carry handles and castors
for all OCTApole sets

1620 x 420 x 310 mm

16 kg

0P 191.90

BEAM CONNECTOR
STRAIGHT

aluminium / steel

incl. 2 x knurled head screw M4
120 mm long

0.027 kg

0P 172

0P 172.00

i
=

BEAM CONNECTOR
CURVED ,TOP*

aluminium / steel

incl. 2 x knurled head screw M4
Attention: only to be used at the top
120 mm long

0.029 kg

M4

=0=—=0=

0P 174

OP 174.00

R 1600
%%




BEAM CONNECTOR
CURVED

aluminium / steel

incl. 2 x knurled head screw M4
Attention: only to be used on the side
120 mm long

0.029 kg

NP

0P 176

0P 176.00

N
i

BEAM CONNECTOR
CURVED

aluminium / steel

incl. 2 x knurled head screw M4
Attention: only to be used on the side
120 mm long

OP 178

0P 178.00

% R 1600

0.029 kg M4
T
=1
’R _—
——O
% O
BEAM CONNECTOR
STRAIGHT 0P 180
aluminium / steel 60 ﬂ 0P 180.00
incl. 2 x knurled head screw M4 { , S —
for wave presentation
for curved beams (R, 800 mm)
60 mm long M4
0.020 kg
oo

=

BEAM

STRAIGHT VERSION

aluminium

made of extrusion M 1356,
suitable for round welt

min. 4 mm dia., max. 6 mm dia.
1241 mm long

0.816 kg

0P 181

OP 181.01




BEAM
CURVED VERSION (CONCAVE)

aluminium

made of extrusion M 1356,

suitable for round welt

min. 4 mm dia., max. 6 mm dia.

1247 mm long / outside radius 1600 mm
1.087 kg

ur—____

—

OP 183

0P 183.01

OP 185

OP 185.01

BEAM
CURVED VERSION (CONVEX)
aluminium
made of extrusion M 1356, E://
suitable for round welt N L
min. 4 mm dia., max. 6 mm dia.
1247 mm long / outside radius 1600 mm
1.087 kg
=—R

END CAP

. _
plastic ° P
for beam extrusions M 1354 [Io E =
and M 1356 L e !
0.003 kg

1L,

M 1365/K

M 1365/K.35

& W30
D
M 1365/K \/

J

EX

W 1254

=

BEAM EXTRUSION 33.5 MM

aluminium

1 x system groove

2 x extrusion openings 8 mm dia.
for use with inserted welt

min. 4 mm dia., max. 6 mm dia.
5000 mm long

2.581 kg

M 1324

M 1324.01

M 1140 + M 1142




|

44

]

3050

3 x OP 100

4
E
1L

3250

“1x 0P 20

M 1]

L

1 x 0P 10

1 x0P20 —~

3500

-

3

2
L

OP 100

= 0P 200

OP 10
0P 20

2486

1243 —

OP 10
0P 20

OCTAPOLE

OP 30 = 0P 300

OP 30

oJete%s

=
RRRRRS
o%
S
<
S
Sasosesates
<
e

K

2480*
Soosesss
5
S90S
00
2%
%%
bt

3
X

o%
55
2480*

XX
B
S

XK
‘0
oo

0%

29
%
osese

=
L
-
wn
>
wn
oc
L
=
=
<
aa]
L
-l
o
o
<C
-
(&)
o
oc
o
L
72
L
-
o
=
<<
>
L
S
=
oc
L
(am]
oc
o

k<

0P 200

* fabric dimensions

— «00¥2-00G | —

o0%ss
X
X

XRRRKX
020026 % %%
ROOLQRALRKL

<
RS0 %%
BRI
BOSERRIIRRIRKLLKKKIR
PR EIIERRRRRIRIIISS
IR
S otesesatotesetetototesatatotesetatoss|
RIS
IR RRERIRIKKEIARKA
oot oot tatotesetatotesesatatotess!
s ot esatotetetatotesetatototesetotorel
SRRy
RIS
oS sossotetatenesotetatoretatosetoretatored

ORI
bt e oamirh\
B 000353050353%)

QIIIIIEN
S RIRIXLAN

— «00¥¢-00G 1

2480*

OP 300

*fabric dimensions

-

<
o%
5]

R

IR
SRR

-

TR
5
RS
50
2

S Sososs)
)
Sesateretetetetotetatoretotoretotetatosets
SRS
etetetetoletetotetetetetatetetotetetotets|
Edle ooeatonmesearmetos |
IR RESITIRKE
D SRIRIRIN

o satoretotesatotetatoratotesatotetets
Ioteretatoteratetototetetototosesatotosess
e Sotere et tutotetatoretotesateteteses
e ot a0t e tote et %o’
ot e totetatatotetesatototesetatosel
Sotetatoretateretotesatotetatetetotesetots
ettt tete o tatotetateX
Eoreoatstoreratatotetatatotosetatetotetetsl
oStetetatotesatotetetetutotetatotetetoret
Ao otesetatetotesetotoresetetotortetotel
s oresesatotesesetoteresetatoretesatosel
I atetertatotetesatotetetetatetotetetels
Sotetsteratoretetotetotetatosetatoretotese!
oo a e t0 et ot et et totetatods
oSt tetotettatotetetatototesatatetore!
Poaotetotetatoretotetetotetatosatotesetots
SRR
Roaosetotetatotetetesetotetatotatetoretsts
Aot totetatoretaterutotesetoratotosatesel
O s oS tatatote e tatoteretatotetetes
Satotetatetaseretateretotetetoretatoretotel
S
PRIKIKIKKK, oSatetetel
espresree =
R SSo % =
IR
O a ot e tatotesesatatoteretatoteseteds
Ststesatotetatoretoteretatosatoretatotets!
Aottt ot teteratotetatotetateratetes
Ratatoteretatstetesatototetatototesetotets’
oS tote et otetate e totetetoteteteretel
I So0Sot st Satetoresesatotosesatotoses
S eo0tetetstesatoretatoretots
Sosasstetatesatotesetotetels

1 x OP 30

1 x OP 300

3500

1 x 0P 10

- 1 x 0P 200

R
L

1 x OP 20

o
Jre
o
re
o

10

* fabric dimensions



11

* fabric dimensions

, (unw) ON, —
006}
= ——0¢ 1 x |
Ll
-
(Jp])
nv\w 001 AE
oc- %”Mw ||||||||||||||||| - = ——
Ll
= oSy |
=
M 0091
Ll G|l
|
o
o
<C
- |t
(&)
o S
e L= O N
= L D
F -
S8
(Jp] m =
= EE
o oY
— 2€ .
« §5S
- SZE
L 28°
(am]
(db)
oc
L
| (aa]
(=} <T : I .
= = | oot |
<t o —{ 0€ |=r ¥
n_.lu = y S /] \ﬁu
B :
1 S
E —
[T = e |
= A e | s o ey ————
w \ \
...quu @ (0s€) @

0Sv1

0052




No tools needed for set-up Connection of beam extrusions

Adjustable height sturdy base plate

12



DESIGN EXAMPLE

Straight version




DESIGN EXAMPLE

Angled version




DESIGN EXAMPLE

Curved version




P 0!IAI8S puUB 81BM}JO0S
IwEEm>m wooliuea|d

W swaisks uoneiuasaid
pswalshAs ubisap Joriaiul
W swalshs uoniqiyxa

€
5]
<
m
)
=
<
S
°
=
=
=

OCTANORMEE



